
NCAA lecture I : quiz solutions

A) a ) X is a Marka chair

2) Y is a Markov chair

3) Z is not ; see page
3

G) U is not
,

but see page 4

5) V is a Markov chain ( actually , anyline -

homogeneous) Markov chain may be written like this )



B) a)Equivalent classes : { 13
,

{ 4,973 , { 2,3 ,
56,8 ,

s }

2) Periodicity :

. periodicity is actually ill - defined for states 1,4 ,
't

as the set { nsa : Pii
"

so ) is empty for i - 347Ithis States are called " transient "

( see next true )

and the periodicity ofthese does net matter much
. . .

• periodicity of the equivalenceclass { 2,3, 5,6, 8,9 }
is 2 ( = god ( a

,
d )



The process Z  is not a Markov charm :
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The process U is not a Markov chain
,

but can

be transformed Who a Markov chain :

Unh = Unt Un
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) E 5×5 is Markov
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UT then ( same form as Y)


